A M N B
AN = 0OAB
> [t 3
2
ek 2
> d 3
ANLS ABE 322 U 4 5 27|t}




@ 4em @)5cm ® 6cm @ Tem ® 8cm

_ 1
BC = 16 - 6 = 10(cm) ©] 22 BM = MC = ;BC = 5(cm)

olt.




.

ul

18-12 =6

-




A

m_._a
%A

—~
__0.._

@)
2 71
®
3 7H

® oM

@17

@)=+

| wct

Ife]




il

— —

1 AB 9lo] & C 7} Qlt} AB, CB 9] 354

Al A
I

AColtt.

H o
L

-
o
Ho
or

aa)]
@)

<




BHe 717k p, Q 2 511, AR AP o FHS M

HE AB © 45
. AM.QB ]
otz g % o] ZHe Fatolet.
Y
> ®e: 3
-a]
Y 3 B
AM — a 2 o}% MP — o, AP=PQ=QB=2q o]z

AM+QB _a+2a _,
MP  a




7. o I8 o] A Mo] A€ AB 9 F3o]al AC = 20cm, BC =
6em & W, MC 9] Zo]& F5t?

_---20cm- -~ _ _

A M B~ 6ecm” C

@ 1lcm @ 12cm @130m @ 14cm ® 15cm

B )

AB =20-6 = 14(cm)°]22 AM = BM =

ojt.
J32& MC = BM + BC = 13(cm) ©]t}.




8. the ageld Az
whubA] A7) @

20}

® 6 @s @ @12 owu
LA 47, AL 6700122 x+y=4+6 = 100]eh.







10.

>~

e O Ha}t o] ot 2 A Qo] ] ke A el A A, B,C 7} th
o] FolA T A& Atk A4 AGE o, AR NS b 2L T

o, a ol et b o BALE P57

A
[ J
o
B C
[ )
© b=2a @)p=a ® b=0
@ b=3a ® b=-a




ols el

d
2|
A=)
my
2
O
>
=
5 1o
o
:l>
e
QQ
\>,
el
N
=~
x0,
_r,L

@ 570 @ 67M ® 770 @87H ® 974




12.

Oh& 23 o] HA 191l Sl dl H A, B, C, D FM = A
o2 ks 5 9l A4S e, whe
fstof =t
A B C D
> =
> "e: 13

TEhA] 146+ 6 = 13|t}

- A 2]

%= 9)t w4 A AB, BC, CD, BA, CB, DCo|2& 67|},
E3h & Ho= whE 4 9lE A8 AB, AC, AD, BC, BD, CD
o]B 2 67fo|tt.




o8

o< W

0
70 RT T
H o R

Q

® % 4 Aolo] Mg

A
oK
o
T
i
Al

oy

%

<

oju

L
o o
He O ER
o o
L AF
o o
o ol
T T
I~
)
T
X X
oy o
X ORE
o Uk







A_C=3W,@:%@°E‘Uﬂ,ﬁ94

e
i
Qe

@ 4cm @ 6cm ® 8cm

e

@mcm

B

® 12cm

~.DE =4+ 6 = 10(cm)




| A ¢ o4 A o] Aol 1ol et
?

flo 4o

n

[Jusl
o>
[ ]
=

Qe
Te

@ HA0] g Ake] Ao 2t

rr
)
r>~
lo
=
>
1o
n
=
o
Ko

@ WA A4
® (F410] )R] %) = (s 410] )

Al A4t 10 ol B2 AR 4T 10 7ot

@

® ¥k A 9] f4== 30 7ol

@ AA Q] AL w = 15(7H) o]t}
ZX 9] 57 15 7ol Br AR o] /4= 157 o] t).




